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Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks)

I (a) Recall the term Probability and Solve the Problem. [03] CO3 Li
A company is to appoint a person as its managing director, who must be an
M.Com, MBA and IAS, the probability of which are one in twenty five, one in
forty and one in fifty respectively. Find the probability of getting such a person
to be appointed by the company. : ,
(b) Summarize the case given below. [07] CO! L2
It is found that the monthly average of electric charges was Rs. 2,460 and
standard deviation Rs. 120. The monthly average of wages was found to be Rs.
42,000 and a standard deviation of Rs. 1200. State which one is more variable? N
(¢) Calculate the co-efficient of correlation beiween the two variables using Karl [10] CO2 L3

Pearson’s.
Marks in A/c’s 1 2 3 4 5
Marks in BS 6 7 8 9 10
2 (a) Describe and compute the Probability Value. [03] CO3 L1

A manufacturer knows that the condensers he makes contain on the average 1%
of defectives. He packs them in boxes of 100. What is the probability that a box
picked at random will contain 3 or more faulty condensers? Use Poisson
Distribution.
(b) Discuss the given case and trace out the missing frequencies if its Median is [07] COl L2
27.5 and the number of items is 50. )
Marks 0-10 10-20 | 20-30 30-40 | 40-50 50-60
Frequency 4 ? 20 ? 7 3
(¢) Solve the problem and fit a straight-line trend by the method of least square and [10] CO4 L3
tabulate the trend values for the following data:
Year 2017 | 2018 2019 2020 | 2021 | 2022 | 2023
Value 70 75 90 98 84 91 100
Also estimate the trend and state the monthly increase in the value.

3 (a) Describe the situation and compute the probability value. [03] CO3 LI
Find the probability of getting 4 heads in 6 tosses of a fair coin? Use Binomial
Distribution. | :
(b) Explain the term Mean and Determine the value of Median, 9" Decile and 80" [07] cor L2
Percentile from the following series: i
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No of Students

and estimate the v

ple.

alue of Y when X =4andt

i he value of [10] CO2

\

(¢) Outline the given case )
X when Y = 24, Use Normal E uation Metho F'_—i_-—_ 5
X: | 3 5 e >
| 23
Y: 15 18 2

. Part B - Compulsory (01*10=10 marks) - CASE STUDY

4 — ,
[]0] FCO3 " LS
Derive the Probability Values for each case. dina : ;
The mean and standard deviation of the wages of 6000 workers engage tl b
9
factory are Rs. 1,200 and Rs. 400 respectively. Assuming the distribution to |
normal estimates:
i. Percentage of workers getting wages above Rs. 1,600.
ii. Number of workers getting wages between Rs. 600 and Rs. 900. J,'
iii. Number of workers getting wages between Rs. 1,100 and Rs. 1,500. -
T % T 5 .
- | | -« w | O © O (@)
Course Outcomes (COs) | o 2| | | 9 3
g g€ g g2 2 2 L
Co1: | Understand how to organize, manage, and present the | | 2b l | i “ ' 2b, | ;
; datﬂ. ‘} 3b { ; j ’ 1[ 3b { | |
- e T T A B -
' CO2: Usu and apply a wide vanety of spccnf' ¢ statistical | I le, | | ‘ I ; le, !
PF | tools. l e | | s |
| f N
' co3: | Understand the applications of probability in 23. ‘ | v i | 2a, | \ !
| | business. ' 3a, | # ’ ’ | 3a, '
| ! | e I
x C04 ’ Efﬁ.clm.ly mu.rprel thc rcsults ofstansllcal analys:s ' 20 | I , , 1 ,2,,°,
\ chlop wmthcnce of using computcr packagcs to ] i 1 ‘ ! i | ‘
[ COs: [ f - .
fc};};}{id&?l&ei{'” e KEYWORDS o
! chl;(:n;bcr I Insl dcﬁnc, tcll dcscnbc, recne, recall, identify, show label, tabulate. quotc, name, who, whcn, whcrc, etc.
' Un dle‘fs;_m d 1 dcscnbe, cxplam, paraphrase, restate, associate, contrast, summarize, differentiate mterpret discuss
‘ L3 - Aop! mcalculatc predu.t apply, solve, lllustratt,, use, dt.monslrate determme mod(,l (.xpenment show anmmc
| PPy - modify
| 14- Analyzc ! classify, utlmc, break down calegorlze analyze dlagram, |Ilustrate mfer select
! | L5 - Evakiste ‘ asses, decide, choosc, rank gradc, test, measure, dcfend rccommend convince, select Judgc, support conclude

argue, justify, compare, summarize, evaluate

L6 Create | | design, formulate, build, invent, create, compose, bc.m.mlc, dunvu, modlfy, dwulop, mlcbratc
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